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Example of Cramer's rule
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Rules for determinant Rules for row reduction
0 Det I I 0 end with I

swap_negate 0 swap two rows
0 linearineachrow Al 0 multiply row by r
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Introduce eigenvaluesandeigenvectors

A f L in standard words f 9 in eigencsords

74 4 1331 3 3 4 13 1 3 Avi it

712 14 14 1 VE 42 1 AVz dzVz

v eigenvector
eigenvalue

corresponding

A Av XI v htI voJ
A V X A XI v o

iii iii

won't work 2 94444 181

want detfA XI det 121211 0

LA XII 2 d 2 d I I

12 4kt 3
d 3 X l O

1 3 I



lab 1 0

0 o

lab's.at a Exlla Exlla Exlla Ext

R Cat d X t ad hoc

traceCA detCA
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we can skip the polynomial and work from this
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